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* Los Angeles is a city in the State of

{1:MULTICHOICE:=California# OK~Arizona#Wrong}
* The capital of France is {1:.SHORTANSWER:=Paris#OK}.
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* Los Angeles is a city in the State of {1:MULTICHOICE:=California#0OK~Arizona#Wrong}
* The capital of France is {1:SHORTANSWER:=Paris#OK}.|
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= q correct answer is preceded with the equal sign = or
a percentage (usually %100%)

= a wrong answer is preceded with nothing or a
percentage (usually %0%)
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= you can allocate some points between 0 and 100 to
some answers, if you put the appropriate percentage

= all answers except the first one are separated from
one another by the filde ~ sign

= answers can be followed by an optional feedback
message, preceded with the # sign; if there is no
feedback message, the # sign can be present or
absent, it does not matter

= in the SHORTANSWER type you may want to put @
catch-all (wrong) answer in order to send a "wrong, try
again” feedback; you can do this by inserting an
asterisk * as the very last expected answer in your
formula
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= unfortunately in MULTICHOICE MODE it is not possible
to get the answers to be scrambled

= ynfortunately in SHORTANSWER mode it is not possible
to make the answers case-sensitive
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= Match the following cities with the correct state:

= *San Francisco: {1:MULTICHOICE:=California#OK~Arizona#Wrong}
w *Tycson: {1:MULTICHOICE:California#Wrong~%100%Arizona#OK}
= *|os Angeles: {1:MULTICHOICE:=California#OK~Arizona#Wrong}
= * Phoenix: {1:MULTICHOICE:%0%California#Wrong~=Arizona#OK}

= The capital of France is
{1:SHORTANSWER:=Paris#Congratulations!~%50%Marseille#No,
that

= s the second largest city in France (after Paris).~*#Wrong answer.
The capital of France

= s Paris, of course.}.
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14 Match the following cities with the correct state
E“E"E”kE: ~* San Francisco: '
' * Tucson: | v

* Los Angeles: t]

* Phoenix: v|
The capital of Franceis| || Submit |
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